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PART Il: READING COMPREHENSION (30 MARKS)
A. Choose the best answer according to the text. (5 x 2 =10 marks)
| . C | 2. a | 3. b | 4. b | 5. b
B. Finish the sentences according to the text. (5 x 2 =10 marks)
1. the mirror and his violin.
2. were not very interested in roller skating.
3. created another type of roller skates.
4. make turns more easily.
5. was considered a very cool thing to do.
C. Put a tick (V) in the correct box to say whether the following statements are
TRUE or FALSE. (5 x 2 =10 marks)

1. FALSE

2. FALSE

3. FALSE

4. TRUE

5. TRUE
PART lll: VOCABULARY (20 MARKS)
A. Choose a word from the box to complete the sentences. (10x1=10 marks)

1. town

2. signs

3. gates

4. tourism
5. successful
6. champion
7. return

8. resident
9. build
10.future




B.

Cc

abkwbd =

ircle the word that doesn’t fit. (5x1=5 marks)

corner
bet
famous
activity
gate

Match the OPPOSITES. (5x1=5 marks)
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PART IV: GRAMMAR (30 MARKS)
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hoose the best answer. (10x1=10 marks)

O
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Put the words in order to form correct sentences. (5x2= 10 marks)

abhwbd=

C

1
2
3
4
5.
6
7
8
9
1

Children used to go to school on Saturdays.

The police officer arrested the man who grabbed the woman’s bag.
When did Jane decide to become a model?

How will the farmer plough the field?

Mum didn’t put a lot of sugar in the cake.

hoose the correct tense. (10x1= 10 marks)

. used to

. were

. spend

. a

has shown
. who

. and

. like

. will have
0.should



